

ORIGENHE E. AUSTIN

16/ENGR21/048

COMPUTER ENGINEERING

ENGR 283

$$1 \quad x = \cos t + \sin t$$

$$y = \sin t - t \cos t$$

$$\frac{dx}{dt} = -\sin t + \cos t + \sin t = t \cos t$$

$$y = \sin t - t \cos t$$

$$\frac{dy}{dt} = \cos t + t \sin t - \cos t = t \sin t$$

$$\frac{dy}{dx} = \frac{dy}{dt} \times \frac{dt}{dx}$$

$$\Rightarrow \frac{t \sin t}{t \cos t}$$

$$\frac{dy}{dx} = \frac{\sin t}{\cos t}$$

$$\frac{d^2 y}{dx^2} \Rightarrow u = \sin t \quad v = \cos t$$
$$\frac{du}{dt} = \cos t \quad \frac{dv}{dt} = -\sin t$$

$$= \frac{v \frac{du}{dt} - u \frac{dv}{dt}}{v^2}$$

$$\frac{[\cos t][\cos t] - [\sin t][-\sin t]}{[\cos t]^2} \times \frac{1}{t \cos t}$$

$$= \frac{\cos^2 t + \sin^2 t}{\cos^2 t} \times \frac{1}{t \cos t}$$

$$= \frac{1}{\cos^2 t} \times \frac{1}{t \cos t} = \frac{1}{t \cos^3 t}$$

$$\frac{d^2y}{dx^2} = \frac{1}{t \cos^2 t}$$

$$R = \frac{\left[1 + \left(\frac{dy}{dx}\right)^2\right]^{3/2}}{d^2y/dx^2}$$

$$R = \frac{\left[1 + \left(\frac{\sin t}{\cos t}\right)^2\right]^{3/2}}{d^2y/dx^2}$$

$$R = \frac{\left[1 + \frac{\sin^2 t}{\cos^2 t}\right]}{d^2y/dx^2}$$

$$R = \frac{\left(1 + \frac{\sin^2 t}{\cos^2 t}\right)^{3/2}}{1}$$

$$= \frac{t \cos^3 t}{\left(\frac{1/\cos^2 t}{1/t \cos^3 t}\right)^{3/2}}$$

$$= \frac{1/\cos^3 t}{1/t \cos^3 t}$$

$$R = \frac{1}{\cos^3 t} \times t \cos^3 t$$

$$\therefore R = t$$

$$b.) \quad h = x_1 = R \sin \theta$$

$$k = y_1 = R \cos \theta$$

$$R = t$$

$$\theta = \tan^{-1}(dy/dx)$$

$$\frac{dy}{dx} \Rightarrow \frac{\sin t}{\cos t} = \tan t$$

$$\theta = \frac{1}{\tan} \times \tan t$$

$$\theta = t$$

$$h = x_1 - t \sin t$$

$$k = y_1 + t \cos t$$

$$\text{But } x = \cos t + t \sin t$$

$$y = \sin t - t \cos t$$

$$h = \cos t + t \sin t - t \sin t$$

$$h = \cos t$$

$$k \Rightarrow \sin t - t \cos t + t \cos t$$

$$= \sin t$$

$$(h, k) = (\cos t, \sin t)$$